
H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

1/12

372.91.4992x W
90°

WARNING!
107°

90°

lllllllllllll llllll llllll lll lllll

lll lllll llll lllll lllllllll lll

lll lll lll llllll lllll lll

lllllllllllll llllll llllll lll lllll

lll lllll llll lllll lllllllll lll

lll lll lll llllll lllll lll

l lllllllll llllll lll lll llllll llllll lllllllll lll

lll lll lll llllll lllll

xx
 / m

m.
dd

.jj 
/ x

x
xx

.xx
xx

x.x
xx

.xx
x.x

xx
x.x

xllll lllll
lll lll
lllllllll lll

xx / mm.dd.jj / xx
xx.xxxxx.xxx.xxx.xxxx.xx

A

E

F

L

M

N

O

H

D

K

J

G
V

B

C2x

Q2x

R

I

P14x

20

S

T

372.91.444
372.91.445

>  11.05.2015    

833.89.000
833.89.001
833.89.002
833.89.003

UK:
AU:
EU:
US:

372.91.099

372.91.098

372.91.XXX

U
M4 x 8

4 x 50

4 x 60

372.91.599

M4 x 8
DIN 965

1 2

3

4

Free flap 1.7 E 372.91.XXX

12
.0

00
1.

01
0.

46
0.

00
00

.0
0

#W7Qwww.hafele.com:



H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

2/12

„mm“

W
W

W W

107° 90°

> 1200mm

Kg max !

mm

Kg max !Kg ≤
!!!

Kg(       x 2)

200

225

250

275

300

325

350

375

400

425

450

372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408
372.91.406
372.91.407
372.91.408

1,7 - 4,6
3,6 - 7,9
6,8 - 14,7
1,5 - 4,1
3,1 - 7,1
6,0 - 13,1
1,3 - 3,8
2,9 - 6,4
5,4 - 11,8
1,2 - 3,3
2,5 - 5,7
4,8 - 10,6
1,1 - 3,1
2,4 - 5,1
4,4 - 9,6
1,0 - 2,8
2,1 - 4,6
4,0 - 8,8
0,9 - 2,6
2,0 - 4,2
3,7 - 8,1
0,9 - 2,3
1,9 - 3,8
3,5 - 7,5
0,8 - 2,1
1,7 - 3,6
3,2 - 7,0
0,7 - 1,9
1,5 - 3,4
2,9 - 6,5
0,6 - 1,7
1,4 - 3,2 
2,7 - 6,1

A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C
A
B
C



3/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

„mm“

16

26

Y (≤ 28)

X108

168
107°

12

≥ 30

Ø35

12

KH

1.5

232

196

3660

A2

15.5

32
24.5

32

32

A1

196

32
24.5

32

32

A1

168

A2

15.5

Y
16
19
22
26
28

X
83
74
64
52
46

5

4

≥100

32
38

32
32

37

Ø5

12

Ø5

6

100
138

Ø12



H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

4/12

„mm“
1

L

R

32
38

32
32

37

Ø5

16
12

Ø5

„mm“
2

12

12

≥ 30

Ø35

6

100
138

Ø12

R

R/L



5/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

3

L

lll lll lllll
llll lll
lllllllllll lll

xx / mm.dd.jj / xx
xx.xxxxx.xxx.xxx.xxxx.xx

>  11.05.2015    

4

M

PZ 2

M



H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

6/12

5

A

A

1

2

PZ 2

6

B

2

N

O

B

1

PZ 2



7/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

7

J

K
H

24 V
Loox

1

2
U

8

J

J

CR-2032

S

T

K

CR2032
PZ 2



H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

8/12

„mm“
10

Q

1

M4 x 8
DIN 965

M4 x 8
DIN 965

2

C

3

Euro ø 6.3

C

Q

1

2

I

3

I

Euro ø 6.3

„mm“
9

5 mm 9 mm

Euro ø 6.3

32

32

Ø9

6.5

B*

40
.5

 +
 A

1

A1

32
32

32
24

.5

24
.5

32
32

32

A2+15.5 A2+15.5

24
.5

 +
 A

1 * B = A2 – 5.5

B min. =   7.0
B max. = 13.5

K

6.5Ø9

A2
FA2 = K – F

Ø5

Ø7.8

B

90°

A1/A2

5 mm



9/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

11

12

1

2



H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

10/12

PZ 2

= Kg

NmNm

=!

1,5°

=

=

1,5

=

1,5

PZ 2



11/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

Free up E

940.XX.YYY

Deutsch (Originalbetriebsanleitung) .........................................................................2

English (Translation of the original operating instructions).....................................10

Français (Traduction des Instructions d'utilisation originales) ................................18

Español (Traducción de las instrucciones de funcionamiento originales)..............26

Italiano (Traduzione delle istruzioni d'uso originali)................................................34

Russisch.................................................................................................................42

Chinesisch..............................................................................................................50

13

F E

90°
107°

90°

1

2 D



12/12

H
D

E 
22

.0
7.

20
17

 
73

2.
23

.2
01

© 2017 by Häfele GmbH & Co KG
Adolf-Häfele-Str. 1 · D-72202 Nagold · www.hafele.com

Subject to 
alterations

4

3

2

1


